Diaz Camera Company is considering two investments, both of which cost $10,000. The cash flows are as follows:


a. Which of the two projects should be chosen based on the payback method? 

b. Which of the two projects should be chosen based on the net present value method? Assume a cost of capital of 10 percent. 

c. Should a firm normally have more confidence in answer a or answer b?

	The Pan American Bottling Co. is considering the purchase of a new machine that would increase the speed of bottling and save money. The net cost of this machine is $45,000. The annual cash flows have the following projections:
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a. If the cost of capital is 10 percent, what is the net present value of selecting a new machine? 

b. What is the internal rate of return? 

c. Should the project be accepted? Why?
	Net present value and internal rate of return methods


	17. You are asked to evaluate the following two projects for the Norton Corporation. Using the net present value method, combined with the profitability index approach described in footnote 2 of this chapter, which project would you select? Use a discount rate of 10 percent.
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